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EEREEg i1 a~65 1t %) NHIERIBOR R
() ENE 7% k& 72 b HUfh =it ) (EPN 34 A AR eI
2R(132) | 1.9 (-25.6)[-12.2 (-19.9)| 4.7 (-15.9)| -1.2 ( -5.6)| 6.5 (-26.2)| 9.0 (-26.9)
JSE(C 49) 1.0 (-35.1)[-14.3 (-26.6) —1.1 (-14.2)[ —1.1 ( -1.1)[-14.3 (-30.9)| -8.6 (-36.2)
KA-(38) | —2.6 (~18.4)[-14.9 (-20.0)[-10.6 (-17.6)[ 7.0 ( -5.6)[-10.5 (-23.7)[-12.2 (-18.5)
BE(24) | 4.2 (-18.8)[-14.6 (-17.4)| -6.3 (-23.9)[ 2.1 (-17.4)| 14.6 (-23.9)[ -8.7 (-28.3)
FHs( 21) | -4.8 (-25.0)] 0.0 ( -7.2)] 0.0 ( -7.5)] 5.9 ( -2.5)| -4.8 (-22.7)| -4.8 (-20.5)
£1(39) | 11.5 (-31.6)[-10.3 (-18.4)] 3.9 (-17.1)[ 2.7 ( -2.7)[ 6.4 (-31.6)[ 5.4 (-30.3)
* SIR(7) | 14.7 (-40.0)[-11.8 (-26.7)] 2.9 (-23.3)[ 0.0 ( -3.4)[ 3.0 (-43.4)[ 6.3 (-43.3)
& | K7 (13) | -3.9 (-23.1)[-15.4 ( -7.7)[ 0.0 ( -7.7)[ 3.9 ( 3.9)[ -3.9 (-15.4) -4.2 (-15.4)
” A (5| 50.0 (-30.0)[ 0.0 (-10.0)| 10.0 (-30.0)| 10.0 (-10.0)| 40.0 (-30.0)| 30.0 (-40.0)
Bk ( 4)[ 0.0 (-30.0)[ 0.0 (-30.0)[ 12.5 (-10.0)[ 0.0 (-10.0)| 12.5 (-40.0)] 0.0 (-20.0)
g [ BIR93) | 7.5 (-23.1)]-13.1 (-20.5) 8.3 (-15.4)] 2.9 ( ~7.0)|-11.9 (-23.9)|-14.9 (-25.6)
0 BEH(32) | -6.3 (-32.8)|-15.7 (-26.6)| -3.1 ( -9.7)| -1.7 ( 0.0)|-23.5 (-25.0)|-16.1 (-32.9)
| KT @5) | 2.0 (-16.0)[-14.6 (-27.3)[-16.0 (-22.9)[-13.1 (-10.9)|-14.0 (-28.0)]-16.0 (-20.0)
% A (19) |-18.5 (-15.8)[-18.5 (-19.5)[-10.5 (-22.2)[ 0.0 (-19.5)[ 7.9 (-22.3)[-19.5 (-25.0)
* EPHRAT) [ 5.9 (-23.6)] 0.0 ( 0.0) -3.6 ( -6.7)[ 7.7 ( 0.0)[ -8.9 (-17.7) -5.9 (-20.6)
ESZEEAY - coir7~9) sl ) PRI RBIOR R
() ENE 7% k& 72 b Bl & AR i NPT AR FEDLH T
I (132) | -3.8 ( -9.2)[-11.9 (-13.1)| -7.2 (-10.8)| —2.4 ( -3.3)|-11.0 (-18.5)|-12.4 (-16.9)
SELC 49)  [-10.2 (-21.3)[-15.4 (-19.2)] 7.2 (-13.1)[ 1.1 ( -4.5)[-19.4 (-22.3)[-17.7 (-25.6)
K- (38) 0.0 ( —4.0)|-12.2 ( -8.6)| 9.2 (-11.2)| -5.4 ( -1.5)| -9.2 (-14.5)|-10.5 ( -7.9)
BE( 24) 2.1 ( 4.2)[-12.5 (-13.7) -7.9 (-13.9) -2.1 (-17.4)[ 4.2 (-19.6)[-10.9 (-17.4)
Bk ( 21) | -2.4 ( -6.8)] -2.4 ( -7.2)] -2.7 ( -=5.0)] 0.0 ( 0.0)] -2.4 (-15.9)] -2.4 (-13.7)
239 2.6 ( 2.6)]-10.3 ( -7.9)| 6.4 (-12.2)] -2.7 ( -2.7)| -3.9 (-10.5)| -4.0 ( -9.2)
* SE(17) | -5.9 (-13.4)[-11.8 (-10.0)[-14.7 (-23.3)[ 3.1 ( -6.7)[ 8.8 (-13.4)[-12.5 (-13.4)
& | k-(13) [ 3.9 ¢ 3.9)-15.4 ( -3.9)[ 0.0 ( -4.2)| 0.0 ( 4.2)| 0.0 (-11.6)] 0.0 ( -3.9)
" A5 (5[ 20.0 ( 30.0) 0.0 C 0.0)] 0.0 (-20.0)[ 0.0 C 0.0)] 0.0 C 0.0)] 10.0 (-20.0)
FEHE( 4)| 12.5 ( 20.0)[ 0.0 (-20.0)[ 0.0 ( 10.0)[-12.5 (-10.0)] 0.0 (-10.0)] 0.0 ( 0.0)
I £(93) | -6.5 (-14.0)[-12.5 (-15.5)| 7.6 (-10.9)[ -2.3 ( -3.8)[-14.0 (-21.8)[-16.0 (-20.1)
0 BEH(32) |-12.5 (-25.0)]-17.2 (-23.5)] -3.1 ( -8.1)] 0.0 ( -3.5)|-25.0 (-26.6)]-20.3 (-31.3)
| KT @5) | 2.0 ( -8.0)[-10.4 (-11.4)[-14.0 (-14.6)| 8.3 ( ~4.6)|-14.0 (-16.0)]-16.0 (-10.0)
"l axao| 27 (26158 17.7)]-108 -11.6)] —2.6 (-22.2)] 5.3 (-25.0)|-16.7 (-16.7)
* Bipk(17) | -5.9 (-14.8)| -3.0 ( -3.1)| -3.4 (-10.0)| 3.6 ( 3.4)| 2.9 (-17.7)| -3.0 (-17.7)
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